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Exercise 1:

1 (2 + 3i) + (5− 2i) = 2 + 5 + (3− 2)i

= 7 + i

2 (4− 2i)− (3 + 6i) = 4− 3− 2i− 6i

= 1− 8i

3

(2 + i)(3− 2i) = 2× 3− 2× 2i+ i× 3− 2× i2

= 6− 4i+ 3i+ 2

= 8− i

4 (3− 4i)2 = 9− 24i− 16

= −7− 24i

5 (2 + i)3 = 8 + 3× 4i+ 3× 2× i2 + i3

= 8 + 12i− 6− i

= 2 + 11i

6

3− 4i

1 + i
× 1− i

2 + 3i
=

(3− 4i)(1− i)

(1 + i)(1− i)
× (1− i)(2− 3i)

(2 + 3i)(2− 3i)

=
3− 3i− 4i+ 4i2

1− i2
× 2− 3i− 2i+ 3i2

4− 9i2

=
3− 7i− 4

1 + 1
× 2− 5i− 3

4 + 9

=
−1− 7i

2
× −1− 5i

13

=
1 + 5i+ 7i+ 35i2

26

=
−34 + 12i

26

=
−34

26
+

12

26
i

=
−17

13
+

6

13
i

7
2 + 3i

1− i
=

(2 + 3i)(1 + i)

(1− i)(1 + i)

=
2 + 2i+ 3i− 3

1 + 1

=
−1 + 5i

2

=
−1

2
+

5

2
i
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nombre conjugué module forme trigonométrique.
a+ ib a− ib r =

√
a2 + b2 θ = tan−1

(
Im(z)
Re(z)

)
= tan−1

(
b
a

)
, z = r(cos θ + i sin θ)

4 + 2i 4− 2i
√
42 + 22 =

√
20 θ = tan−1

(
2
4

)
z =

√
20

(
cos

(
tan−1(1

2
)
)
+ i sin

(
tan−1(1

2
)
))

1−
√
2i 1 +

√
2i

√
12 + (−

√
2)2 =

√
3 θ = tan−1

(
−
√
2
)
, z =

√
3( 1√

3
+ −

√
2√
3
i)

z =
√
3

(
cos

(
tan−1(−

√
2)
)
+ i sin

(
tan−1(−

√
2)
))

(2 + 2i)5 (2− 2i)5 (
√
22 + 22)5 zn = [r(cos θ + i sin θ)]n = rn(cosnθ + i sinnθ)

= (2
√
2)5 z = 2

√
2(

√
2
2
+ i

√
2
2
) = 2

√
2(cos π

4
+ i sin π

4
)

zn = (2
√
2)5(cos 5π

4
+ i sin 5π

4
)

1 + i
√
3 1− i

√
2

√
12 +

√
3
2
= 2 z = 2(1

2
+

√
3
2
i) = 2(cos π

3
+ i sin π

3
)

1+i
√
3

(2+2i)5
2

(2
√
2)5

z = [r,θ]
[r′,θ′]

= [ r
r′
, θ − θ′] =

[2,π
3
]

[(2
√
2)5, 5π

4
]
= [(2

√
2)5, π

3
− 5π

4
]

= [(2
√
2)5, −11π

12
]
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